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Instructions:

1) Write in a clear legible handwriting.

2) This question paper has five sections A, B, C, D & E and Question Numbers

from 1 to 61.

3) Atl questions are compulsory. There are only internal options'

4) The numbers to the right represent the marks of the question'

5) Draw neat diagrams wherever necessary.

6) New sections should be written in a new page. Write the answers in numerical

order.
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frqrq - A

(rra ftrm:)
3rtfr{d€[ rr€rGNrsFI U$oilq / srr.s;raurq srgri gita I (*1sft fr*:)

-[H outer ]ra]isir .gvtcil euq"rqi ?,r1cu.E sh. (sidqqr ds)

Translate the following paragraph into English. (any one)
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t ) erer nd: fttrri nan sr{Fftt Remr ftqra: qa qfreh I * F+ nla sfl!'rA Rr& I elfrg:

ffi; 3ryq-swffiIlq'FiiR lqr+{r6: rqueefr: gr*qerari{dfua: lmil
qraqerqfiflra: qenvrR sqa rrnfti fi sBq: t q$Bq: *d: sIE: qrqrfra: q I 3{a

@
2) {€rRfrfur: qflqri: qR r ircrsrT, Esi-H@ qkrcr:, qa-sftrredqQrl:' til-*ar<q:

rlvlrr: v l{!ga: rffi'q+rt:8r;n: fuqr' ErqRtrersII - EEtdKfri qEftl 3{eI

q y**: gEoisrs: q3{rfiilul tte.Ru'r u ftre, foa: treft t

3{?fr{fl"i iqa-sqvrafrl ffi: fqia,T ffi ftrsat (+ 3Tfr e)

-rlti. .,Net {qa uai<t €.ti [Qsc.rqiuil +iq,ul edu (iiduqr Q)

Choose the answer of the following questions in Sanskrit. (any two)

12l

z-

'.-/'3) iGgaeamft@i
(A) rnftffiflru-

\-.-+f gfudt gk fth a qwftr

(A) @
.*,.5) *qsffi:*aeTr&?

(A) S-r{rnlfr{

(B) lrs$qR: tc t vnffi$nR:

*

(B) el@ (C) rT@

(B) qrh (C) e.qrqr&

3rsnTnqi sryEtrtrfrr Ud{rrrq / eTrs{ffTqtqi fuqd I (+ 3Tfr e)

-[[{ oNe[ rtel{[ €.ri .jvirc'[ ail\rqi (r1,ii. (5'id\q[ ,,\)

Answerthe following questions inEnglish. (any two)

6) A"& .t1*ti" 5tB1,is Q"u ttt r1D s6{t t}l
Why has author compared man with a piece of wood?
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7) (a{r0. Rterui t}.ti.r"t 1D sd qjqr'u q'trqilt

What was the planning of Kutanatha to deceive Vittadasa?

8) e,tortstL lS\-LL 3a-[t tlt EetL P4d €d[?

What was the condition of the son of the unfamiliar man?

srdq=ilq Bws sqft {&tur ft:quft frrqd I (6'1 3{fr qtrr)

-il{ .,uter Ftqq ut 1s-tiu erit. (sid'qtsr ds)

Write short note on the following (any one)

9) '?rt[etd1t[ct' -tLq.-tL Fteai UrLo1qi.

Explain the obstacle en+dqn (Falling in Whirlpool)

10) e{qqL-il 5duri. aw).

Brahma's rebuke to Durvasa.
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3TEitF rrgqud qfttar grqrrrq:ti-{rfrI tiq,? rrrqtqi ftrqa t

il{ qr!.d cLal,is qiqiti uef-tt €ti titgct ail\tlti Qd[.

Read the following paragraph carefully and write answers in Sanskrit.

1 1) &Hk{tr{iTI: TrtrJEIq r enqrrriata epeqdurfua: t qrfuatff 3r'E$Ir@

wi qqi T'n'(G' Rrd+i vftfuag{ q+qi q I m ErEr H: ll?IqFrq 
"n6 

rraft, rqt

u,sfuqgtq€ att gaq- '?Errrcr, u'rq5qqfir( I 3lg{r 3trffi1" a{a: qtsd:

ffiffid g6q 86fr, '?efr v'ri wq t rgftfrffar: rrtEu: A vdtq trqar: lF
r1qdfrl"

grclt:

(A) u: (er$a;1 6ErNeEIffi?
(B) qfutra: 1er$e:) wi vrii gie q?
(C) rrfl r{: (fra;) ETFFIFITq rsft rrdfr ttEr tnFI eaft gaqi

(D) wi*flerRt
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Aqr't-B

(qu frtrrrr:)

ettftd{s xr€rGlus{zt gt{snqrq i errs.'rd$nqsrdEt{ gsa I (41sft q€:)

-[t{ .,rtet \atsil 1o/?rc[t ar\t1ti a]tSctls sil. (di6qer ds)

Translate the following passage into English (any one)

tz) fuirr{qffiAtira: qriw{m I

qQn6ewe+qqd*iserr*q tt

qffidHvostaqt:@t

Yr+{fr gun: qr@r Aqmwr: gtrfr tt

13) q tiileercr Ecn rmd 6rmrFr: t

E*{qrqtttrqqm SErr+u:tt

qaggqfrfiq guBars qrn&q: I I

s - 1315
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3{ri6drqi €q'.- sTH-q strtfri ffira: frar iq-a ftrc" I (+ 3Tfu A)

-r"Pr "tAer tiqa ue'Hi €.ti Guc'tttiul +iqatti e"iu (iri'+;r ut)

Choose the answer of the following questions in Sanskrit (any two)

qR: frh qrqilr

(A) (B) gRq (C) Eq

!-. ls) qk: (q83:)eftem**iffryt

t2l
4a

,p
qi-fl.',

(A) Tq
q:qqrqeffietq-qrRl

(A) Er3ei

(B) ffiq

(B) l{ffi:

E'GRTT

3{re[

(c)

(c)
Jto)
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s{cilfirai srysf,trfrT 5${qnrqi / en .srosqrqrqt frrsd | (a,rR elfr *frr)

.tit{ rrrtqu u+ir-u Q.1i cqv?rctil e[q"t*l"i ct"L. (AdqBt 1qt)

s - 1315

t6l
i.

G7) t,tei'fi qr'lar sd sd tli' qH t]q

How is gold tested?

zz) sT[(rqIIq: t{qrqiq: ll

23) qdErrc t&ll

J.

How can anyone become v$Qt

19) Uq/-t {[ Uq/fitt ir{1t

Nature of a good Person.

In which different situations does a devotee pray goddess to protect him?

,ffiEEa I (61 3tfrd) I4I
d1

"oir.sf.H sh. (iid\sr Q)

Complete the verses. (anY two)

21\ sr*ren Ekfr ............. H**'1 rnffi 1 1

f
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Write the following ansrvers of the questions in English' (any three)

J8) Adqer ..r.R 
'<{gfliO }'fl fla q'tit lt} S r

20) zi zt vl.it&.[i.ti 015fl ]ttctt.t ?+tgt s?ctl ut{ ur
\-l
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BrrFr - C

?k

*

(qr(T frqrq:)

sret{ir€q{r-dilsrss${$tlutqq/sils..rf, tqlvtqr(wfdllig;ual1dsfr 5:)

-il{ qAet -uEq}isit ?}qr?rc[[ at\tql ]ttetLg sii. (5)61$ q5)

Translate the following passage into English. (any one)

24) g+d:- qqurft lsertiHuqsqv€rrrfl: fthgffiz

5ft4:- Irw{ffiI er*rn: qR, egiifrui{ueutetffil sra:taqE

Iffta:- s*rn: e:Ilet: qftorgfihgffit

gfa:- qtEr-{ql3ftlqsa}: wqrraRl sfi: qGIFteITaR qrcR I

2s) yrrfG@: erhfl r qrlql qffisRr iuq?r d anqq I 3+r?l 5a erlut urftfrsR

FEw*ts{eftE,uara I

qftfrrqm:- wFseta *rai, a trq I q{N: Erqqq: I

:-seirE: I

3{rfrfii EriFr c,: E-fi fi frrqa I (t 3{fr e)

+lt{ "tAei "usr siqr qi.c) 0 i. eui. (hd',+sr Q)

State who says to whom. (any two)

(s{) (E)

26) qdii fr u6*6 Qrq:

.s..' 27) G qfrH]lrdF:

I

,...... zgt T{iTrqqft ttr(rg:

ffi@:
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s{ri6flqi srysrrrftT US{qIq / err.s,atnqm ft{qd I (t 3tft A)

-iH *uter u*il-u Qp. 1v?tct1 ettq.tq.l eril. (s'id'qsr "1;

31) Fttucr.r.nt tu qD siq\ .il6dt

Why should one study?

sFlEd: ftd: EqR {efu QEuft ftrsd I (al sIft A)

s - 1315
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Answer the following questions in English. (any two)

, _,.",.,.-29) 
qLql$t'tt ltdtlttl? ietr oti niatJn'tr ?LqAiti ril. tis S f

According to Chan akya,in what matter does Chandragupta's kingdom differ

from that of Nanda?

30) eta)c5?t ISRA { uetre "tr!. S f

What does Ghatotkacha advise Shakuni to do?

x

r t4l
I

Write short note for the following. (any two)

_ 
32) al[xrii itnt

Message conveyed by Shrikrishna.

33) e,ttqtd qLqL$t

Acharya Chanakya

) {ffscl) s}1i 6ur-tj "r.s[-t

Write the description of the garden by Shandilya.

7

ilt
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frffiffiqwqtglfrGrrd l(ffie)

duqi outei qti-il €qqj'r stli "rtstl q'tA' (Att'rst Q)

Make sentence using words given in the brackets' (any two)

35) ott 1ai. €qt'tttt {e[[.

We are not the killer of an envoy'

(erwq6wc*a)

36) atlttsti a$ 5d"*. t}.

Ours are three duties.

(ersa.B ffiia 3q)

37) +S?LP, si'..it<t [\ot (,tt'

Dhritarashtra \\'as the tather of Kauravas'

fum- D

(arerut ftqrq:)

s{+fiilqi sflqi ({+gq, qrflrftl ftrqa t

-iti. ou\ct u{ti.t tf,q4t 1q/q €(i. e"ti'

Answer the following questions according to instructions given'

38) tr.s.rn/rr{,n'YrW qqmrrfth qertffirq' ffira: fra'r ftrqa t

qrfrr, qr(f,*, qgdl

39I'$;' !@P f{oqnft* YIq ertffirq: ffirq: frar ftrsa t

Fdru erel{:,orgq

[1
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\qrqflrffi E.{dffirt ffirq: fu€r fttsa t

dq: *gar.rrrarte@'rafrt

(uw*r*q{E51ieeffiq,*OtTrg{q)

o{s}qrs qRffiE qirEr: ffirq: fu€t gffia I

urlqfrq
(vnua: + eruq, $l$dl + 3{q., vnqd + elq)

51)

t/
3rttff€r: uRg.fii w{ qilq: ffirq: fuaI ftrsa t

m: +R
1ef\, u,rPrr( tft)

3{?&trd: ffi: sqrss*.ri t'fra: ffi: fu-a1filea 1

s - 131s
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4e)

-JP

tzl*

tZ)

!P}*$t$t:
- 

(EEHEII-€(:,

(rg6{gqT€:, ffi€I{rFt:, 85r*re: ;

q{fiAtrrs:, rqoqgqm:)

frqtr-E

(ligan ftqrq:)

54) sGffi atarft eqFmx,'fl3uftut rrnq{fr I

-tit{ qr!.qti.'Lr5'-it 5e'u45 sltLtttt? cii's'ii'

Arrange the following sentence according to sequence of the story'

'r (A) q{fr{€Striawftvdqrq;aa I

.. (B) s{R Gffiqrd xrn sngcdu: rrqa: qfilqqfrTrqd: I

: (c) qdtft qrdltl qq q HR t

(D) Sqsqotcift?Elqfr t

SNT33 10 17 (GE)
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55) ffi'r€ruq{qftlarer{HrqvrrrfrTffiftrsd I I4l

-iti .u!.e\ rlalis "tiqiti ue)qt €.tt titg.ttti e'i. q

Read the following passage carefully and write answer in Sanskrit'

ir:rr rr6rtH: en& I re tn*r;t iEIiF: rrett q6 auft FI I iret F Eerq atd qrqq

gure{: slftqsftF{ Iqqrur&sqdr rrqfril{Swru{: iren: qsr&stqte
qrq: qrff q {6(g:q srgqEa: Frl ffiT: gsEr i5lt6' {EFr*e E{nirg qfrti ret
rq t S: frra: uiE*ru+: q@qnufu:l qerntmfrswiiqarg t

(A) qren: *a w6 aafr ei
(B) qersaHq: eqftez

(c) gwnrd: i* srqfr si
(D) qdqrtnrtn: qsstrti@?

* u.nt-Efri dF?rimi gffid I (qt 3{ft d)

sal gt q)".t i[i "r)s'i. (i.rJtSL q.)

\[a::: ::e :c]-:',.';;1; .'i 
^::: 3-::.': .:; :eei: 'cooks. lan]' t\\'o)

(er) (e)

s6) qfr: qrS 5i:Rrerq

57) EIUNTE: {rl[rq

5s) frvrq<t: @
Eug;tn@

Wq4ftg.€fiEarrrsqrsga: frrua I (u.rfr elft*fu)

}qift,,t veii ge sili cre{ts ii'lqiL et"i. 1s\d''tsr asO

Correct the underlined words and rewrite the paragraph' (utty three)

59) G erd rrdrqrq*Rr: qrdfrqq.arir6lfoi ftraiaq.gqftPift t

t2ra

r3l #*

S\T33 11 17 (GE) G.r.o.)



*

s - 1315

sr?}Eds s*drer, Udruq/ en.srarnrvrqeqffii5ar 3{dF{€ili5Ta I (*fiqt*:)t3l -#

Translate the following verses and expand the idea. (any one) /

60) q,ffilTrqdSw(Iq{l
qrffig**1*q;*as{fu ll

1) ften wrafru,raqdq

gErqIKiIT:ffirnqqt: I

wiqo{prrqrniugwft

6aqrtqa*eM tt

eee

E
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